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1.What DataWeave expression transforms the example XML input to the CSV output?

Output Payload «» B J B E OO | Preview
. vy an L WTE. 2" n 1e%dw 2.0 index,sale,itemName,itemPrice,item
:::'l“:;’"s“’"' il B B : 2 output application/csv | ©,1000,T-shirt Navy,20,592
<item itemId="592" saleld="1000" B s 3,1009,Cango Shorts;, 08,472
<shipping>international</shipping> 4
<desc>T-shirt Navy</desc> 3
<sizesl</size> 6
<quantity>l</quantity> 7
<price>20</prices 8
</item> 9
<item itenIds"972" saleld="1000" 10
<shipping>domestic</shipping> -
<desc>Cargo Shorts</desc> 12
<size>XL</s1ze> 13
<quantity>2</quantity> 8
<price»>30</price> 1?
<item> 16
</sale> 13
A)

payload.sale.>item map ( (value,index) -> {

index: index,

sale: value.@saleld,

itemName: value.desc,

itemPrice: (value.price) * (value.quantity),
) 3 item: value.@itemld

B)

payload.sale.*item map ( (value,index) -> {

index: index,

sale: value.saleld,

itemName: value.desc,

itemPrice: (value.price) * (value.quantity),
) item: value.itemId

C)

payload.sale,item map ( (value,index) -> {
index: index,
sale: value.@saleld,
itemName: value.desc,
itemPrice: (value.price) = (value.quantity),
item: value.@itemId
})
D)
payload.sale.item map ( (value,index) -> {
index: index,
sale: value.saleld,
itemName: value.desc,
itemPrice: (value.price) #* (value.quantity),

) item: value.itemld
)

A. Option A
B. Option B
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C. Option C
D. Option D
Answer: A

2.What payload is returned by a Database SELECT operation that does not match any rows in the
database?

A. false

B. null

C. Exception

D. Empty Array

Answer: D

3.Refer to the exhibits.
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¥ getMumbaers * selPayload100

“100"
® Error handiing
¥ setPayload200

=200°
* Error handling

* Error handling

<flow name="getNumbers"” >
<http:listener doc:name="HTTP: GET /" config-ref="HTTP_Listener_config" path="/"/>

<scatter-gather doc:nome="Scatter-Gather” >
<route >
<flow-ref doc:name='setPayloadl®®@’' nome='setPayload108'/>
</route>
<route >
<flow-ref doc:name="setPayload?@@” nome="setPayload2®d"/>
</route>

</scatter-gather>
<eetransform doc:name="payload™-

<ge:message >
<ee:set-payload ><![COATA[%dw 2.0
output application/json
payload] ]></ee:set-payload>
</ee:messoge>
</ee:transform

</ flow>
<flow name="setPayloadl1@@" > <set-paylood volue="#["100"]" doc:name="'"180"" /></flow>

<flow name="setPaylood28@" > <set-payload value='#["20@"]' doc:name="'"280""' /></flow>

Each route in the Scatter-Gather sets the payload to the number shown in the label.
What response is returned to a web client request to the HTTP Listener?

A)
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[
{
“attributes”: ...,
"payload": "100"
¥,
|
“attributes": ...,
“"payload: "200"
}
]
B)
1
“o": “lee",
Illll: Ilzagll
}
C)
lll-laﬂll ¥ -Ilznalll
D)

{
IIBII: {
"attributes": ...,
"payload": "108"
},
i !I: {
“attributes™: ...,
"payload: "200"

}

A. Option A
B. Option B
C. Option C
D. Option D
Answer: C

4 Refer to the exhibits.
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¥ requestFlow ¥ transformFlow
Listener ol
Set XML payload POST forder Log payload POST Jorder Tranifarm into
ot e | JSON Object

& &

* Error handling

* Error handling
Message Flow Global Elements Configuration XML

@ PoST Jorder request -~ [&] Problems

@ There are no errors.
General General
MIME Type Streaming strategy ~ Repeatable file store stream (Default)

Request
In memory size: 1024

Response
Buffer unit: KB (Default)
Advanced

Error Mapping Qutput

Metadata Target Variable:  theResult

Notes Target Value: fx #{ payload

In the requestFlow an HTTP Request operation is configured to send an HTTP request with an XML
payload. The request is sent to the HTTP Listener in the transform Flow.

That flow transforms the incoming payload into JSON format and returns the response to the HTTP
request. The response of the request is stored in a target variable named the Result.

What is the payload at the Logger component after the HTTP Request?

A. A non-empty Java object

B. The original XML payload

C. null

D. The returned JSON response

Answer: B

5.Refer to the exhibits.
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0O c 0 <0

HTTP: POST /jms JMS: one HTTP: POST /data JMlS: twa payload as String
#+ "Three"®
* Error handling
* hitp ¥ oneJmsQueualistenar ¥ twolmsQuenelistensr
@—’@ & _}@ {o- —:@
; paylaad as String JMS: one payload as String JMS: two payload as String
HTTP: PGSTNIH ++ "HTTP-* e "JMS ]~ 4 B2~
® Error handling * Error handiing * Error handling

A web client sends a POST request to the HTTP Listener with the payload "Hello-".
What response is returned to the web client?

A. Hello- HTTP-] MS2-Three

B. HTTP-JMS2-Three

C. Helb-JMS1-HTTP-JMS2 -Three

D. Hello-HTTP-Three

Answer: A
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